mean # PXL hits vs eta

<pixel hits> [

Ratio

0.95

6 [AE """""" [ """"""

43_ _______________ B N
L2000 O O O O
RS0 DU T S N
S T S T B A

=
i
>

n

210 12 3

mean # PXL Layers with measurement vs eta

<pixel layers> [

Ratio

4.5

w
IN

¢ f N
O 0 N 0w O

H

=)

.....................................................................

.....................................................................

.....................................................................

&

0.95

—fit_ nocpe_1000evt

<strip hits> [

14 S S S
S0 EUUN S SRS NN N S

T e W S

0.95

—fit_ cpeOK” 1000evt

—=— DQM_original_originalvector_1000evT
—e— DOM™original—1000evt

mean # STRIP hits v| —— BIMitted4_T000evt
—— DOQM

f\_lqllllllI.IIII.IIII.IIII.IIFI

W rrrrJrrrrr
|
N

<strip layers>

(o2}

w b O

0.95




	Contents
	Page 1


